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In the reaction

- P, + 50,---F P40,

4

75715.9 P4 reacts. Calculate the following:
a. the mass of P,049 produced 2 c8

b. the mass of O2 that reacts b.

In the reaction

CgHy, + 80,--=3>5C0, + 6H,0
109 g CSH12 reacts. Calculate the following:
a. the mass of O2 that reacts .
b. the mass of CO2 produced b.

V4

¢. the mass of H2

e

0 produced c.





[image: image2.jpg]UNIT 8
ACTIVITY 1

4. 1In the reaction

1\12(804)3 + 6NaOH ---> ZAl(OH)3 ea 31‘132504

22.7 g NaOH reacts. Calculate the following:

a. the mass of A12(504)3 that reacts 4 58
k ¥
b. the mass of Al(OH)3 produced b
%
c. the mass of Na2504 produced &%

5. In the reaction

3Cu + 8HNO,---3> 3Cu(NO3)2 + 2NO + 4H20

3
11.3 g NO is produced. Calculate the following:
a. the mass of Cu that reacts Suas
4
‘
b. the mass of HNO, that reacts b

3





